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Paper Pattern

McQS 40 each 1 mark

Short4 each 2 marks
Short 4 each 3 marks
long 4 each 5 marks
Cuestion No : 1 of 52 Marks: 1 {Budgeted Time 1 Min)

The data of the problem s of 2GEB and the hard disk 15 of 1GE capacity, to solve this problem we should

o Pt el o S gtan 'WWW.VirtualAcademyLive.com:

Ilse hetter data structures

Incraase the hard disk s

Lise the better algorithm

LIse a5 much data as we can store on the hard disk

‘ﬁ YNade by: YWaqar Siddhe

Question No : 2 of 52 Marks: 1 {Budgeted Time 1 Min)

Four statements about trees are below, Three of them are correct, Which one s INCOREECTY

AHSWE-I | Please select your correct option ) . WWW-Vi rtua IACHdemVLiUE.Com L

Trees are recursively defined mulb-dimensional data structures

e

The order of a tree mdicates a mammuem mumber of childen allowed at each node of the tree

A search tree 5 a special type of tree where all values (o @ .p 3 5 5 unordered

If Tree1's size 15 greater than Tree2's size, then the height of Tree1 must also be greater than Treez ' s heyh

’ YNade by: Yy/aqar Siddhu




Question No : 3 of 52

Marks: 1 {Budgeted Time 1 Min)

Whach of the followang 13 WOT an mmplementation of Table ATTT?

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Sorted Sequential Array
s

Linked List

Slap hst
T

D pas

YHade by: Y4/aqar Siddhe

Question No : 4 of 52

Marks: 1 {Budgeted Time 1 Min)

Censider te followang arvay
2315 5 12 40 107

After the first pass of a parhicular algonthm, the array looks like
155 1223 10 7 40

Mame the algonthm vsed

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Heap sort -

Selechon sert
5
In P
s according to rule
. page 485

Yade by: V1/aqar Siddhe

Question Ne : 5 of 52

Marks: 1 {Budgeted Time 1 Min)

Which ane of the following algonthms 15 least efficient,

ref

Answer | Pleasagelect your correct option )

WWW.VirtualAcademylLive.com

a2
Inserion Sort “Which one o! following algorithms is least efficient,
c Quick Sort
Insertion Sort
Merge Sort
| e Bubble Sort
Bubble Sort
2 ]
YNade by: YWaqar Siddhe




Cuestion No : & of 52 Marks: 1 {Budgeted Time 1 Min)

Suppese a pomter has been declared mo mam but has not assigned any vanable address then

o Pt el o S s WWW.VirtualAcademylLive.com

That pomter pomts te First byte in mamn finction

C

That pomter contams a NMULL value

That pomter pomnts to last byte in the mam function

That pomter pomts to any memory address
T~ e YPade by: Yy/aqgar Siddhe

Question No : T of 52 Marks: 1 {Budgeted Time 1 Min)

[Fwe insert a new node in an AVL tree which s perfectly balanced tree, then we willneed  to keep st AVL,

WWW.VirtualAcademylLive.com

Two rotations
P

Rotahons equal to mumber of levels
L

Ho rotabion at all
C

de by: idd
ODade by: YWaqar Siddhe
Cuestion No : 8 of 52 Marks: 1 {Budgeted Time 1 Min)

The worst case of deletion in AVL tree requires

o Pt el o St g WWW.VirtualAcademylLive.com

Chdy ens rotation

C

Rotahon at each non-leaf node

Eotanon at each leaf node

Rotahons equal te log 17 I'e,f_' moazz ﬁles

YNade by: YWaqar Siddhe




CQuestion No : 9 of 52 Marks: 1 {Budgeted Time 1 Min)

To create a . wee lmle the last node wath the first node m the Lst

o Pt el o St g WWW.VirtualAcademylLive.com

Droubly hnked st

‘ Circularly lnkced list

p 43

Lmnked hst
ps
Trply Inked hst
’ YNade by: YYaqar Siddh
Question No : 10 of 52 Marks: 1 {Budgeted Time 1 Min)

I have implemented the queue with a circular array. If that cwcular array has capacity of IV elements, and last1s an mdex mto that array, what 1z the Formula for the index after last?

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

(last% 1)+ N

e

last % {1+ 1)

(last+ 1) % 1

last+ (1% M)

’ YNade by: YWaqar Siddhe

moazz

Question No : 11 of 52 Marks: 1 {Budgeted Time 1 Min)
By using . we avord the recursive method of traversmg a Tree
L] L]
Answer | Please select your correct option ) WWW- Vl rtua IAcadem VLIVE. COITI

Binary tree only
C

( Threaded binary tree ) moazz

Heap data struchare

Huffman encodng

’ YNade by: YWaqar Siddhe




CQuestion No : 12 of 52 Marks: 1 {Budgeted Time 1 Min)

A Bmnary tree can be traversed using

o Pt el o St g WWW.VirtualAcademylLive.com

FECUrsion
e

iteration
s

both recursion and iteration
pu

—
traversal can only be done on BST 1 4 0
.
P YNade by: YY/aqar Siddh
Question No : 13 of 52 Marks: 1 {Budgeted Time 1 Min)

In complets Binary tree, the bottom level 13 filled from

lect your correct option ) WWW.VirtualAcademyLiVE.Com

Left to right
moazz
Right to left
P
Mot flled at all
ps
Up to down
t"‘ L]
YNade by: Waqar Siddhe
Question No : 14 of 52 Marks: 1 {Budgeted Time 1 Min)

Whach of the fellowing statement i3 ITOT true for Huffman code?

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

It 1z a method for the compression of standard text documents

e

Ituses Bmary tree to develop codes of varmng lengths for the letters used in the onginal message

It 12 no more used m any compressed file format

‘h——

It 15 also part of the JPEG mage compression scheme,

’ YNade by: YWaqar Siddhe




CQuestion No : 15 of 52 Marks: 1 {Budgeted Time 1 Min)

If a complete Binary tree has height b, then its number of nodes wall be

answer frommoazz

o P sk o o s WWW.VirtualAcademylLive.com

Log (h)

 ——

(H ) p 324

Log(h)-1

” YNade by: YWaqar Siddhe

Question No : 16 of 52 Marks: 1 {Budgeted Time 1 Min)

While bulding Huffman encoding tree, the new node that 13 the result of joinmg two nodes has the frequency

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

Equal to the small frequency

e

Equal to the greater frequency

Equal to sum of the two frequencies > =
ref moazz

Equal to difference of the tweo frequencies

’ YNade by: YWaqar Siddhe

Question No : 17 of 52 Marks: 1 {Budgeted Time 1 Min)

Which one of the following 15 HOT true regarding the skap hst?

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

Each bzt 55 contains the special keys + miinty and - mfinty
C

List 50 contans the keys of 510 non-decreasmg order,

Each bst iz a subsequence of the prewous one

——

—

Lust S contains only the n special k_"p ref moazz

) YNade by: YWaqar Siddhe




Question No : 18 of 52

Marks: 1 (Budgeted Time 1 Min)

Which one of the following 15 MOT the property of equivalence refaton

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Refexe

Symmetric

Transive

Associatire

ref moazz

YNade by: YWaqar Siddhe

CQuestion No : 19 of 52

Marks: 1 (Budgeted Time 1 Min)

Whuch of the followang 1z true for disjomt sets A and B 7

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Intersechon of A & B is equal to B

Unicn of A & B 15 empty

4q

Intersection of A & B is empty

Intersechon of A & B 15 equalto A

YNade by: Yyaqar Siddhe

Question Ne : 20 of 52

Marks: 1 (Budgeted Time 1 Min)

When urions are done by weight (size), the depth of any element 15 never greater than

A select your correct option )

WWW.VirtualAcademylLive.com

'"*i)‘p 412

nlogan

rlogynt]

logan-1

YNade by: Yyaqar Siddhe




Question No : 21 of 52 Marks: 1 (Budgeted Time 1 Min)

Suppoese you mnplement a Min heap (with the smallest element on top) man array, Consider the different arrays below, determune the one that cammot possibly be a heap

Anewer {Pisase select you comect option) WWW.VirtualAcademyLive.com
" 16,18,20, 22,24, 28,30
16, 20,18, 24, 22,30, 28
-

16, 24, 18, 28, 30, 20, 22

16, 24,20,30,28 18,22

ref moazz W_Dude b,: wmqat \Sidl")ll

Question No : 22 of 52 Marks: 1 (Budgeted Time 1 Min)

Suppose currentiode refers to a node m a lnked bst (using the Mode class wath member vanables called data and nexiNode) Which boolean expression wﬂl bc true when Currentllode refers to the

tall node of the hst?
ref CD' _ ‘

comeaopion) 38 suppose cumenty W W W VirtualAcademyLive.com

variables called dara ano nexivoae). wnicn poolcan expression will 0e e wnen
CurrentNode refers to the tail node of the List?

T

Answer

(currentilede == nul)

(cmrm‘th-de—bnem‘.Nﬂde = mll) m]

(currentNode->nextNode = null)

(nexiNode data=—null (nextNode.data == null)

(currentNode.data = (L))

{currentM ode. data = (.0}

) Yade by: V/aqar Siddhe

Question No : 23 of 52 Marks: 1 {Budgeted Time 1 Min)

Below 15 a Binary Search Tree (BET) IEwe delete the value 50 from the root node, what would be the value m the root of the remaming tree?

Answer[Plammsalanwurmec;pﬂon] WWW.ViI’tuaIACHdemVLiVE.Com
il YNade by: YWaqar Siddhe




Question No : 24 of 52

Marks: 1 (Budgeted Time 1 Min)

The subscript of an array 15 used for,

I} Negabng array size

O} Retieving array elements
T ) Changing array name

IV ) Mulbplcaton of array size

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Tand II Only

IT Only

(t"'_"'!-;

I and TV Only ’

IV Ounly

YNade by: YWaqar Siddhe

Question No : 25 of 52

Marks: 1 (Budgeted Time 1 Min)

Searching an element in an AVL tree takes masamum

time (where n 15 number of nodes in AVL tree)

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Logaint+1)

Logi{ntl) -1
~

1 moazz

1.66 Logan

YNade by: Yyaqar Siddhe

Question No : 26 of 52

Marks: 1 (Budgeted Time 1 Min)

A complete binary ree having "I nodes consists of

Levels.

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Log2 (IN+1)- 1

Log2 (N-1) - 1

Log2 +D+ 1

Log2 (N-13+ 1

YNade by: Yyaqar Siddhe




Question No : 2T of 52 Marks: 1 (Budgeted Time 1 Min)

Runmng time of find(@) s proportional to the of the tree contamng node 1

e e—— WWW.VirtualAcademylLive.com

Weght

e p 405

—

Root

Mumber of lnks

” YNade by: YWaqar Siddhe

Question No : 28 of 52 Marks: 1 (Budgeted Time 1 Min)

Whaich of the followang 13 used to represent an wnage o the computer?

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

Characters

Texnt
~

e S5 p 420

Audio

) YNade by: YWaqar Siddhe

Question No : 29 of 52 Marks: 1 {Budgeted Time 1 Min)

Hash hunchon i3 used to convert

confusion

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

A hash number key to a key

A kev to a hash value I

Drata mto table

Character data mto mteger data

p 458

YNade by: Yyaqar Siddhe




Question No : 30 of 52

Marks: 1 (Budgeted Time 1 Min)

Hash funchion 1s

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

A Data Structure

-

A program

YNade by: YWaqar Siddhe

Question Ne : 31 of 52

Marks: 1 (Budgeted Time 1 Min)

When two or more than two keys produce a same mdex n hashing lanction, this sibuation 1z know as

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

C

Same key generation

Same value generabion

~

C

Same key and same value

e p 464

YNade by: Yyaqar Siddhe

Question Ne : 32 of 52

Marks: 1 (Budgeted Time 1 Min)

Eest case runtung time of selecton sort algorithan i

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

s

0 (logn)

& {nlogn)

YNade by: Yyaqar Siddhe




Question Ho : 33 of 52 Marks: 1 (Budgeted Time 1 Min)

Best case runming time of msertion sort algonthm 15

T e—— WWW.VirtualAcademylLive.com

2 ¢nlogn)

” YNade by: YWaqar Siddhe

Question No : 3 of 52 Marks: 1 (Budgeted Time 1 Min)

Whach of the followang can NOT be a mas-heap ¥

Answer | Please select your correct option ) WWW.VirtualAcademyLiVE.Com
TE54321
362145
-
1843521
(?3542& S of
) refmonzz YVade by: Vy/aqar Siddhu

Question No : 35 of 52 Marks: 1 (Budgeted Time 1 Min)

The masarmum aumber of external nodes (leaves) for a bivary tree of height H a2

ref moazz

Answif f Please select your comrect option ) WWW-Vi rtua IAcademyLiVE.Com
'2H

24 +1

2K

2H42

" YNade by: YWaqar Siddhe




Question No : 36 of 52

Marks: 1 (Budgeted Time 1 Min)

Whach of the following 15 the most sigruficant part of complers?

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Expression tree

Array

Bmary tree

YNade by: YWaqar Siddhe

Question No : 37 of 52

Marks: 1 (Budgeted Time 1 Min)

Whaich of the followang 13 OT a factor m Dkdon by Size?

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

Mamntaing sizes (number of nodes) of all trees

Makes smaller tree, the subtree of the larger one

Makes the larger tree, the subtree of the stmaller one ’-

ref moazz files

Mamtams sizes (number of nodes) while performme union operabon

YNade by: Yyaqar Siddhe

Question Ne : 38 of 52

Marks: 1 (Budgeted Time 1 Min)

A binary tree with 33 mnternal nodes has links to mternal nodes

Answer | Please select your correct option )

WWW.VirtualAcademylLive.com

31
C

4' ref moazz files

33

&6

YNade by: Yyaqar Siddhe




Question Ho : 39 of 52 Marks: 1 (Budgeted Time 1 Min)

Whuch of the following statements 15 FOT true about threaded bmary tree?

e e—— WWW.VirtualAcademylLive.com

Fight thread of the nght-most node pownts to the dusesny node

Left thread of the left-most node pomts to the dumemy node

The left pomter of the dumpp? node pomts to the root node of the tree

Left thread of the nght-most node pomts to the dummgy node.

ref moazz files (m“de bu: Waqm' \Sid‘lhn

Question No : 40 of 52 Marks: 1 (Budgeted Time 1 Min)

Whaich of the followang 12 IOT an example of equvalence relation?

Answer | Please select your correct option ) WWW-Vi rtua IAcademyLiVE.Com

Electncal connectity

Set of prople

<= relahon
: ref moazz files

Set of pi=els

“ YNade by: Yy/aqar Siddhu

Question No : 41 of 52 Marks: 2 {Budgeted Time 4 Min)

Hew we can delete an element from Shap List

Answer | Please click here to Add Answer ) WWW.Virtua IAcademVLiVE.Com

@R AR o ] W G T =]
It = -l Al e ==

o YNade by: YYaqar Siddhe




Question Ho : 42 of 52 Marks: 2 {Budgeted Time 4 Min)

What are the masmum number of compansons we have to perform during msermonm BET 7

Answer ( Please click here to Add Answer ) WWW.VirtuaIAcademVLive.Com

CEHan| s e o (A]E L L E [ =]
[ricemmi == -l A EE== i rs

" YNade by: YYaqar Siddh

Question No : 43 of 52 Marks: 2 {Budgeted Time 4 Min)

How Table ADT can be implemented using Linked List 7

Answer | Please click here to Add Answer ) www.VirtualAcademyLiVE.Com

A e e R e A e [Fo0% ]|
[Viarmal =]~ -l AwirgEE== = es

" YNade by: YWaqar Siddhe

Question No : 44 of 52 Marks: 2 {Budgeted Time 4 Min)

“What 15 masmmum level difference between two leaf nodes in a Heap? Justfy vour answer as well

Answer | Please click here to Add Answer ) www.VirtualAcademyLiVE.Com

A e e R e A e [Fo0% ]|
[icrmini ][~ -l AwirgEE== = es

o YNade by: YYaqar Siddhe




Question Ho : 45 of 52 Marks: J {Budgeted Time & Min)

What are the three basic things that are associated with data structures?

Answer ( Please click here to Add Answer ) WWW.VirtuaIAcademVLive.Com

CEHan| s e o (A]E L L E [ =]
[ricemmi == -l A EE== i rs

" YNade by: YYaqar Siddh

Question No : 46 of 52 Marks: J {Budgeted Time & Min)

"For smaller hsts, Inear msertion sort performs well, but for lasger bsts, quick sort iz sutable to apply." Justfy why

Answer | Please click here to Add Answer ) www.VirtualAcademyLiVE.Com

A e e R e A e [Fo0% ]|
[Viarmal =]~ -l AwirgEE== = es

" YNade by: YWaqar Siddhe

Question No : 47 of 52 Marks: J {Budgeted Time & Min)

The follownng array represents a heap structure

L[ 3 1 = 16 T8 8 J9 [wijia
97 |76 |61 |42 [54 |58 |31 [23 |17 [44 |45

Insert a new value 86 mto the heap Show the resultant heap, after mserton, m the form of array

Answer | Please click here to Add Answer ) www.VirtualAcademyLiVE.Com

A e e R e A e [Fo0% ]|
[icrmini ][~ -l AwirgEE== = es

o YNade by: YWaqar Siddhe




Question Ho : 48 of 52 Marks: J {Budgeted Time & Min)

What 12 an Equivalence relation? Give any two examples

Answer ( Please click here to Add Answer ) WWW.VirtuaIAcademVLive.Com

CEHan| s e o (A]E L L E [ =]
[ricemmi == -l A EE== i rs

" YNade by: YYaqar Siddh

Question No : 49 of 52 Marks: 5 (Budgeted Time 10 Min)

Here 13 an arvay of ten ntegers:
5389170264
Sort the array by using selection sort algonthm and show content of array after sach step

Answer | Please click here to Add Answer ) www.VirtualAcademyLiVE.Com

A e e R e A e [Fo0% ]|
[Viarmal =]~ -l AwirgEE== = es

" YNade by: YWaqar Siddhe

Question No : 50 of 52 Marks: 5 (Budgeted Time 10 Min)

Insert nodes 59 and 77 mnto the following AVL tree. You have to balance the AVL free
Steps are not required. Only show the resultant AVL tree

—,

()

Answer | Please click here to Add Answer ) www.VirtualAcademyLiVE.Com

A e e R e A e [Fo0% ]|
[icrmini ][~ -l AwirgEE== = es

o YNade by: YYaqar Siddhe




Question No : 51 of 52 Marks: 5 (Budgeted Time 10 Min)

Why the given Binary tree 15 NOT a Heap? How can we make 1t Heap with mummum changes 7

a1
4

o AR

Answer | Please click here to Add Answer ) WWW.VirtualAcademVLiUE.Com

@R R e ] A B oo 2]
[hicrr = =i A riE====:

o YNade by: YYaqar Siddh

Cuestion No : 52 of 52 Marks: 5 (Budgeted Time 10 Min)

Wiite and explam the code for "Union" and "Fmd" eperabions of Parent array m disjont sets

Answer | Please click here to Add Answer ) WWW.VirtualAcademyLiVE.Com

e e L AR ol
[ =1l =1 A nrhlEE==sE s

¥ YNade by: YWaqar Siddhe




